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; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
ZznLst 1.00 ] 0.00 ~ 4.64 57.88 | Thst | 0oo ~ 464| 1.86 9.38 znLst 1.00 | 5.00 ~ 5.00 57.88 | =St | 5,00 ~ 5.00)| 1.86 9.38
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZE#BZ 3 - ~ — — -
znLst 1.00 1 0.00 ~ 7.04 89.41 | =hst | 0oo ~ 000|175 8.86 ZznLst 1.00 | 5.00 ~ 8.80 89.41 | #nS | 5,00 ~ 880 1.75 8.86
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZE#BZ 3 - ~ — — -
ZznLs 1.00 1 000 ~ 767 98.32 | =hst | ooo ~ 767|206 10.41 znLst 1.00 1 6.00 ~ 10.60 98.32 | #nS | 5,00 ~ 1060 2.06 10.41
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%Z#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
zh st 1.00 | 000 ~ 7.77 99.80 | #nst | ooo ~ 7771221 11.15 zh s 1.00 | 6.00 ~ 10.50 99.80 | #nhLSY | 5,00 ~ 1050 2.21 11.15
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%Z#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
zh st 1.00 | 000 ~ 7.77 99.80 | =4t | 0oo ~ 7.7711.79 9.04 zh st 1.00 | 6.00 ~ 10.50 99.80 | #hLS | 5,00 ~ 1050| 1.79 9.04
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8Z % — - ~ — —|3mZE#BZ % - ~ — — -
ZznLst 1.00 1 000 ~ 5.16 64.35 | TN | 000 ~ 516 1.98 9.98 ZznLst 1.00 | 65.00 ~ 6.20 64.35 | =hS | .00 ~ 6.20 | 1.98 9.98
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZE#BZ % - ~ — — -
Zhst — - ~ = —| Zh st - ~ = — — Zhst — — ~ — —| Zh st — ~ — — —
100kN/M%Z#B % % ~ IMEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZhLst ~ Zhst ~ ZhLst ~
100kN/M%Z#B % % ~ IMERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZnLst ~ Zhst ~ ZnLst ~
100kN/M%Z#B % % ~ IMEHBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZnLst ~ Zhst ~ ZnLst ~
100kN/M%Z#B % % ~ IMERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZnLst ~ Zhst ~ ZnLst ~
100kN/M%Z#B % % ~ IMERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZhLst ~ Zhst ~ ZhLst ~
100kN/M%Z#B % % ~ IMEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZnLst ~ Zhst ~ ZhLst ~
100kN/M%Z#B % % ~ IMEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZnLst ~ Zhst ~ ZhLst ~
100kN/M%Z#B % % ~ IMEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
zhLst ~ Zzhn st ~ zhLst ~ Zzhn st ~
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